Fort Bend County Tabulation Bid 14-017 Construction of Mason Road Segment 3

Recommendation: Gonzalez Construction Enterprises Funding: Mobility Project

Company	Total Bid	Completion Time in Calendar Days
Gonzalez Construction Enterprises Rosenberg	\$1,672,883.93	180
Allgood Construction Stafford	\$1,717,700.00	180
Durwood Greene	\$1,853,451.25	130
Conrad Construction Houston	\$1,947,115.00	180
Angel Brothers Enterprises Baytown	\$1,970,389.50	150
Aranda Brothers Houston	\$1,982,414.00	180
Hassell Constructions Houston	\$2,015,860.00	180
Mar-Con Services Deer Park	\$2,048,421.10	180
Texas Sterling Construction Houston	\$2,063,440.00	180
Tripple B Services Huffman	\$2,419,100.57	180
Webber, LLC The Woodlands	Disqualified: Failed to provide required.	proof of insurance as

Bid Tabulation For:

Construction of Mason Road Extension Segment 3 - Oyster Creek to Farmer Road

C.I. Job No.: 2012-178 Fort Bend County Bid 14-017 Bids Received: October 10, 2013

	Gonzale							Conrad			randa Brothers		Hassell						
	Construct Enterprise,	-		Construction pany, Inc.		od Greene ruction Co.	Co	nstruction Co., LTD.	ngel Brothers Iterprises, Ltd.	Co	onstruction Co., Inc.	Co	nstruction CO., Inc.	Mar-	Con Services, LLC		exas Sterling nstruction Co.	Trip	le B Services, L.L.P.
	Litterprise,	1110.	0011	iparry, irio.	0011311	dollori oo.		LID.	 itorprisos, Lta.		iiio.		1110.		LLO	00	nstruction co.		L.L.I .
SECTION A: ROADWAY SITE PREPARATION AND EARTHWORK ITEMS	\$ 43,6	679.40	\$	161,149.00	\$	84,084.25	\$	120,198.50	\$ 200,555.00	\$	111,903.00	\$	158,554.00	\$	242,938.50	\$	153,614.00	\$	101,559.00
SECTION B: ROADWAY PAVING	\$ 1,074,7	754.93	\$ -	1,025,957.24	\$ 1.	,110,737.50	\$	1,141,698.50	\$ 1,142,570.70	\$	1,185,125.00	\$	1,228,678.00	\$	1,160,650.90	\$	1,192,025.00	\$	1,395,455.00
SECTION C: ROADWAY DRAINAGE ITEMS	\$ 397,8	392.65	\$	381,005.77	\$	510,499.00	\$	519,738.00	\$ 486,075.00	\$	503,847.00	\$	456,688.00	\$	493,279.50	\$	559,952.00	\$	706,987.07
SECTION D: SWPPP ITEMS	\$ 42,8	339.70	\$	33,703.89	\$	39,242.00	\$	43,557.50	\$ 39,819.80	\$	57,107.50	\$	48,311.00	\$	36,748.70	\$	41,993.00	\$	54,281.00
SECTION E: SIGNING AND PAVEMENT MARKING ITEMS	\$ 13,7	792.65	\$	16,187.10	\$	16,980.00	<u>\$</u>	13,957.00	\$ 11,967.00	\$	19,425.00	\$	15,020.00	\$	17,099.50	\$	15,023.50	\$	13,946.50
SECTION F: TRAFFIC CONTROL ITEMS	\$ 67,7	724.60	\$	67,497.00	\$	59,708.50	\$	75,765.50	\$ 57,202.00	\$	72,806.50	\$	75,609.00	\$	64,354.00	\$	68,632.50	\$	83,072.00
SECTION G: EXTRA WORK ITEMS (TO BE USED ONLY AT DIRECTION OF ENGINEER)	\$ 32,2	200.00	\$	32,200.00	\$	32,200.00	\$	32,200.00	\$ 32,200.00	\$	32,200.00	\$	33,000.00	\$	33,350.00	\$	32,200.00	\$	63,800.00
BASE BID TOTAL	\$ 1,672,8	383.93	\$	1,717,700.00	\$ 1,	,853,451.25	\$	1,947,115.00	\$ 1,970,389.50	\$	1,982,414.00	\$	2,015,860.00	\$	2,048,421.10	\$	2,063,440.00	\$	2,419,100.57

Bid Tabulation For:
Construction of Mason Road Extension
Segment 3 - Oyster Creek to Farmer Road
C.I. Job No.: 2012-178
Fort Bend County Bid 14-017
Bids Received: October 10, 2013

Bids Re	Bids Received: October 10, 2013			Gonzalez Construction Enterprise, Inc.			ruction Company, inc.	Durwood Green	ne Construction Co.	·		Angel Brothers Enterprises, Lt	
Item No.	Description of Item	Quantity	Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
	WAY SITE PREPARATION AND EARTHWORK ITEMS Furnish and Install Project Sign, Complete in Place, In Accordance with the Drawings and Specifications.	2	EA	\$1,150.00	\$2,300.00	\$641.70	\$1,283.40	\$900.00	\$1,800.00	\$750.00	\$1,500.00	\$770.00	\$1,540.00
2 .	Clearing and Grubbing, Complete in Place, In Accordance with the Drawings and Specifications.	1	LS	\$1,150.00	\$1,150.00	\$102,500.00	\$102,500.00	\$35,000.00	\$35,000.00	\$18,500.00	\$18,500.00	\$107,000.00	\$107,000.00
3 .	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes), Complete in Place, In Accordance with the	36	LF	\$11.50	\$414.00	\$10.35	\$372.60	\$20.00	\$720.00	\$27.50	\$990.00	\$12.50	\$450.00
4 .	Drawings and Specifications. Remove and Dispose of Existing Pavement and Base Material, Complete in Place, In Accordance with the Drawings and Specifications.	4,040	SY	\$2.65	\$10,706.00	\$2.07	\$8,362.80	\$3.00	\$12,120.00	\$4.85	\$19,594.00	\$7.25	\$29,290.00
5 .	Construction Staking, In Accordance with the Drawings and Specifications	1	LS	\$11,500.00	\$11,500.00	\$6,077.37	\$6,077.37	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$19,000.00	\$19,000.00
6 .	Sawcut Existing Pavement, In Accordance with the Drawings and Specifications.	115	LF	\$11.50	\$1,322.50	\$10.35	\$1,190.25	\$8.75	\$1,006.25	\$7.50	\$862.50	\$2.20	\$253.00
6A .	Roadway Excavation, In Accordance with the Drawings and Specifications.	6,146	CY	\$2.65	\$16,286.90	\$6.73	\$41,362.58	\$3.00	\$18,438.00	\$12.00	\$73,752.00	\$7.00	\$43,022.00
	and Specifications.			Subtotal:	\$43,679.40	Subtotal:	\$161,149.00	Subtotal:	\$84,084.25	Subtotal:	\$120,198.50	Subtotal:	\$200,555.00
	WAY PAVING Lime Stabilized Subgrade with 7% Lime - (Type A) 8" Depth, Complete in Place, In Accordance with the	26,700	SY	\$2.24	\$59,808.00	\$2.07	\$55,269.00	\$1.75	\$46,725.00	\$1.85	\$49,395.00	\$2.00	\$53,400.00
7A .	Drawings and Specifications. Hydrated Lime (Type A) for Stabilization - 7%, Complete in Place, In Accordance with the Drawings and Specifications.	561	TON	\$166.75	\$93,546.75	\$145.94	\$81,872.34	\$150.00	\$84,150.00	\$165.00	\$92,565.00	\$155.00	\$86,955.00
8 .	HMAC Concrete Base Course (Black Base) 8" Depth, Complete in Place, In Accordance with the Drawings and Specifications.	129	TON	\$91.57	\$11,812.53	\$82.80	\$10,681.20	\$90.00	\$11,610.00	\$150.00	\$19,350.00	\$78.30	\$10,100.70
9 .	HMAC Type "D" Surface Course 2" Thick, Complete in Place, In Accordance with the Drawings and Specifications.	45	TON	\$107.61	\$4,842.45	\$103.50	\$4,657.50	\$180.00	\$8,100.00	\$250.00	\$11,250.00	\$177.00	\$7,965.00
10 .	Place, In Accordance with the Drawings and Specifications.	24,300	SY	\$35.36	\$859,248.00	\$34.47	\$837,621.00	\$37.50	\$911,250.00	\$37.95	\$922,185.00	\$38.75	\$941,625.00
11 .	Concrete ADA Ramp 4.5", Complete in Place, In Accordance with the Drawings and Specifications.	25	SY	\$287.50	\$7,187.50	\$87.98	\$2,199.50	\$250.00	\$6,250.00	\$110.00	\$2,750.00	\$150.00	\$3,750.00
12 .	Concrete Curbs 6", Complete in Place, In Accordance with the Drawings and Specifications.	15,510	LF	\$2.47	\$38,309.70	\$2.17	\$33,656.70	\$2.75	\$42,652.50	\$2.85	\$44,203.50	\$2.50	\$38,775.00
	with the Diawings and Specifications.			Subtotal:	\$1,074,754.93	Subtotal:	\$1,025,957.24	Subtotal:	\$1,110,737.50	Subtotal:	\$1,141,698.50	Subtotal:	\$1,142,570.70
	WAY DRAINAGE ITEMS Install and Maintain Trench Safety System (From 5 to 10 feet), Complete in Place, In Accordance with the	3,737	LF	\$0.58	\$2,167.46	\$0.10	\$373.70	\$1.00	\$3,737.00	\$1.00	\$3,737.00	\$0.50	\$1,868.50
14 .	Drawings and Specifications. Furnish and Install 24" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In Accordance with the Drawings and Specifications.	2,260	LF	\$48.32	\$109,203.20	\$49.69	\$112,299.40	\$52.00	\$117,520.00	\$63.00	\$142,380.00	\$61.00	\$137,860.00
15 .	Furnish and Install 30" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In Accordance with the Drawings and Specifications.	641	LF	\$67.24	\$43,100.84	\$63.59	\$40,761.19	\$82.00	\$52,562.00	\$86.00	\$55,126.00	\$86.50	\$55,446.50
16 .	Furnish and Install 36" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In Accordance with the Drawings and Specifications.	81	LF	\$85.65	\$6,937.65	\$83.58	\$6,769.98	\$105.00	\$8,505.00	\$115.00	\$9,315.00	\$108.00	\$8,748.00
17 .	Furnish and Install 42" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In Accordance with the Drawings and Specifications.	145	LF	\$120.91	\$17,531.95	\$106.71	\$15,472.95	\$145.00	\$21,025.00	\$146.00	\$21,170.00	\$133.00	\$19,285.00
18 .	Furnish and Install 60" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In Accordance with the Drawings and Specifications.	610	LF	\$191.48	\$116,802.80	\$185.68	\$113,264.80	\$250.00	\$152,500.00	\$236.00	\$143,960.00	\$215.00	\$131,150.00

 Bid Tabulation For:
Construction of Mason Road Extension
Segment 3 - Oyster Creek to Farmer Road
C.I. Job No.: 2012-178
Fort Bend County Bid 14-017
Bids Received: October 10, 2013

					uction Enterprise, nc.		ruction Company, nc.	Durwood Green	e Construction Co.	Conrad Construction Co., LTD.		Angel Brothers Enterprises, Lt	
Item No.	Description of Item	Quantity	Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
19	Furnish and Install Precast Standard Depth Manhole, Complete in Place, In Accordance with the Drawings and Specifications.	13	EA	\$2,300.00	\$29,900.00	\$1,656.00	\$21,528.00	\$3,700.00	\$48,100.00	\$3,500.00	\$45,500.00	\$3,037.00	\$39,481.00
20	Furnish and Install Precast Standard Depth Manhole with Type 'E' Inlet Top, Complete in Place, In Accordance	1	EA	\$6,417.00	\$6,417.00	\$3,105.00	\$3,105.00	\$6,000.00	\$6,000.00	\$7,725.00	\$7,725.00	\$7,550.00	\$7,550.00
21	Furnish and Install Precast Standard Depth Manhole on RCB, Complete in Place, In Accordance with the Drawings and Specifications.	4	EA	\$1,811.25	\$7,245.00	\$1,397.25	\$5,589.00	\$2,600.00	\$10,400.00	\$2,375.00	\$9,500.00	\$1,280.00	\$5,120.00
22	Furnish and Install Standard Type 'C' Inlet, Complete in Place, In Accordance with the Drawings and Specifications.	17	EA	\$1,713.50	\$29,129.50	\$1,707.75	\$29,031.75	\$2,750.00	\$46,750.00	\$2,375.00	\$40,375.00	\$2,000.00	\$34,000.00
23	Furnish and Install Standard Type 'C-1' Inlet, Complete in Place, In Accordance with the Drawings and Specifications.	2	EA	\$2,202.25	\$4,404.50	\$2,173.50	\$4,347.00	\$3,300.00	\$6,600.00	\$3,000.00	\$6,000.00	\$2,667.00	\$5,334.00
24	Furnish and Install Standard Type 'C-2A' Inlet, Complete in Place, In Accordance with the Drawings and Specifications.	2	EA	\$2,593.25	\$5,186.50	\$3,622.50	\$7,245.00	\$3,900.00	\$7,800.00	\$3,200.00	\$6,400.00	\$3,186.00	\$6,372.00
25	Furnish and Install Standard Type 'E' Inlet, Complete in Place, In Accordance with the Drawings and Specifications.	5	EA	\$1,903.25	\$9,516.25	\$2,587.50	\$12,937.50	\$3,100.00	\$15,500.00	\$2,550.00	\$12,750.00	\$3,090.00	\$15,450.00
26	Riprap, Complete in Place, In Accordance with the Drawings and Specifications.	100	SY	\$46.00	\$4,600.00	\$46.58	\$4,658.00	\$55.00	\$5,500.00	\$48.00	\$4,800.00	\$51.00	\$5,100.00
27	Reinforced Concrete Wingwall, Complete in Place, In Accordance with the Drawings and Specifications.	10	CY	\$575.00	\$5,750.00	\$362.25	\$3,622.50	\$800.00	\$8,000.00	\$1,100.00	\$11,000.00	\$1,331.00	\$13,310.00
28	Omitted			\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
				Subtotal:	\$397,892.65	Subtotal:	\$381,005.77	Subtotal:	\$510,499.00	Subtotal:	\$519,738.00	Subtotal:	\$486,075.00
SWPI	P ITEMS												
29	 Sodding for Erosion Control (Various Widths), Complete in Place, In Accordance with the Drawings and Specifications. 	5,250	SY	\$3.74	\$19,635.00	\$2.85	\$14,962.50	\$3.00	\$15,750.00	\$3.75	\$19,687.50	\$3.60	\$18,900.00
30	Hydro-mulch Seeding, Complete in Place, In Accordance with the Drawings and Specifications.	4	AC	\$1,322.50	\$5,290.00	\$1,216.13	\$4,864.52	\$1,200.00	\$4,800.00	\$1,345.00	\$5,380.00	\$1,265.00	\$5,060.00
31	Reinforced Filter Fabric Barrier, Complete in Place, In Accordance with the Drawings and Specifications.	3,850	LF	\$1.61	\$6,198.50	\$1.24	\$4,774.00	\$1.50	\$5,775.00	\$1.50	\$5,775.00	\$1.70	\$6,545.00
32	 Inlet Protection Barrier (Stage 1, With Reinforced Filter Fabric Fence), Complete in Place, In Accordance with the Drawings and Specifications. 	11	EA	\$51.75	\$569.25	\$46.58	\$512.38	\$100.00	\$1,100.00	\$75.00	\$825.00	\$82.50	\$907.50
33	Stabilized Construction Access (Type 1 - Rock), Complete in Place, In Accordance with the Drawings and Specifications.	222	SY	\$10.35	\$2,297.70	\$10.35	\$2,297.70	\$16.00	\$3,552.00	\$20.00	\$4,440.00	\$12.40	\$2,752.80
34	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags), Complete in Place, In Accordance with the Drawings and Specifications.	23	EA	\$51.75	\$1,190.25	\$56.93	\$1,309.39	\$30.00	\$690.00	\$75.00	\$1,725.00	\$27.50	\$632.50
35	Rock Filter Dam (Type 2), Complete in Place, In Accordance with the Drawings and Specifications.	180	LF	\$13.80	\$2,484.00	\$25.88	\$4,658.40	\$40.00	\$7,200.00	\$30.00	\$5,400.00	\$25.30	\$4,554.00
36	TPDES General Permit No. TXR150000; Notice of Intent (NOI) Application Fee (Contractor's NOI)	1	EA	\$5,175.00	\$5,175.00	\$325.00	\$325.00	\$375.00	\$375.00	\$325.00	\$325.00	\$468.00	\$468.00
				Subtotal:	\$42,839.70	Subtotal:	\$33,703.89	Subtotal:	\$39,242.00	Subtotal:	\$43,557.50	Subtotal:	\$39,819.80

W:\2012\2012\78\Bid\Bid\Bid Tabulation.xlsx Page 3 of 7

Bid Tabulation For: Construction of Mason Road Extension Segment 3 - Oyster Creek to Farmer Road C.I. Job No.: 2012-178

Fort Bend County Bid 14-017 Bids Received: October 10, 2013

has received. October 10, 2015				I	uction Enterprise, nc.		ruction Company, nc.	Durwood Green	e Construction Co.	Conrad Constr	ruction Co., LTD.	Angel Brothers	Enterprises, Ltd.
Item				Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
No.	Description of Item	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
SIGNI	NG AND PAVEMENT MARKING ITEMS												
37 .	Remove and Relocate Traffic Signs, Mail Boxes, Roadway Signs	1	LS	\$1,150.00	\$1,150.00	\$1,552.50	\$1,552.50	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$880.00	\$880.00
38 .	Aluminum Signs (Ground Mounted)(High Intensity Sheeting) - Furnish & Install	2	EA	\$316.25	\$632.50	\$496.80	\$993.60	\$400.00	\$800.00	\$260.00	\$520.00	\$495.00	\$990.00
	Type III Barricades		EA	\$1,121.25	\$3,363.75	\$848.70	\$2,546.10	\$850.00	\$2,550.00	\$715.00	\$2,145.00	\$880.00	\$2,640.00
40 .	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Solid - Furnish & Applied	800	LF	\$0.58	\$464.00	\$0.54	\$432.00	\$0.90	\$720.00	\$0.80	\$640.00	\$0.55	\$440.00
	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	440		\$1.15	\$506.00	\$1.14	\$501.60	\$2.00	\$880.00	\$1.55	\$682.00	\$1.10	\$484.00
	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	100		\$6.90	\$690.00	\$6.93	\$693.00	\$7.00	\$700.00	\$6.00	\$600.00	\$5.50	\$550.00
	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied	450		\$0.58	\$261.00	\$0.56	\$252.00	\$0.90	\$405.00	\$0.80	\$360.00	\$0.55	\$247.50
44 .	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dashed - Furnish & Applied (15' over 40')	3,750	LF	\$0.58	\$2,175.00	\$0.56	\$2,100.00	\$0.90	\$3,375.00	\$0.80	\$3,000.00	\$0.55	\$2,062.50
45 .	Reflectorized Pavement Markings Type II , 12" Yellow/Solid For 6" Curb per Detail "D", Furnish & Applied.	1,500	LF	\$0.86	\$1,290.00	\$1.55	\$2,325.00	\$1.50	\$2,250.00	\$1.05	\$1,575.00	\$1.00	\$1,500.00
46 .	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow - LEFT - Furnished & Applied	4	EA	\$109.25	\$437.00	\$238.05	\$952.20	\$150.00	\$600.00	\$150.00	\$600.00	\$110.00	\$440.00
47 .	Reflectorized Pavement Markings Type I (Thermoplastic) Word - ONLY - Furnished & Applied	4	EA	\$115.00	\$460.00	\$238.05	\$952.20	\$200.00	\$800.00	\$150.00	\$600.00	\$110.00	\$440.00
48 .	Reflectorized Pavement Markers Type II-A-A - Furnish & Install	30	EA	\$5.18	\$155.40	\$5.69	\$170.70	\$5.00	\$150.00	\$5.00	\$150.00	\$3.30	\$99.00
49 .	Reflectorized Pavement Markers Type II-C-R - Furnish & Install	330	EA	\$4.60	\$1,518.00	\$5.69	\$1,877.70	\$5.00	\$1,650.00	\$4.50	\$1,485.00	\$3.30	\$1,089.00
50 .	Non-Reflectorized Ceramic Traffic Buttons (White) - Furnish & Install	150	EA	\$4.60	\$690.00	\$5.59	\$838.50	\$4.00	\$600.00	\$4.00	\$600.00	\$0.70	\$105.00
				Subtotal:	\$13,792.65	Subtotal:	\$16,187.10	Subtotal:	\$16,980.00	Subtotal:	\$13,957.00	Subtotal:	\$11,967.00
TRAF	FIC CONTROL ITEMS												
	Work Zone Pavement Markings 4" White/Solid (Removable) Furnished - Applied & Removed	2,850	LF	\$0.46	\$1,311.00	\$0.85	\$2,422.50	\$0.55	\$1,567.50	\$0.65	\$1,852.50	\$0.65	\$1,852.50
52 .	Work Zone Pavement Markings 24" White/Solid (Removable) Furnished - Applied & Removed	100	LF	\$2.88	\$288.00	\$9.52	\$952.00	\$3.30	\$330.00	\$4.00	\$400.00	\$5.50	\$550.00
53 .	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished - Applied & Removed	4,020	LF	\$0.46	\$1,849.20	\$0.85	\$3,417.00	\$0.55	\$2,211.00	\$0.65	\$2,613.00	\$0.65	\$2,613.00
	Traffic Control - Furnish - Install & Remove		MO	\$1,092.50	\$6,555.00	\$1,863.00	\$11,178.00	\$1,200.00	\$7,200.00	\$2,100.00	\$12,600.00	\$1,765.00	\$10,590.00
55 .	Constructing Detours for Two-Way Traffic (6" Black Base) for Installing-Maintaining & Removal	440		\$99.56	\$43,806.40	\$87.98	\$38,711.20	\$80.00	\$35,200.00	\$100.00	\$44,000.00	\$70.60	\$31,064.00
56 .	Constructing Detours for Two-Way Traffic (2" HMAC Surface) for Installing-Maintaining & Removal	110	TON	\$126.50	\$13,915.00	\$98.33	\$10,816.30	\$120.00	\$13,200.00	\$130.00	\$14,300.00	\$95.75	\$10,532.50
				Subtotal:	\$67,724.60	Subtotal:	\$67,497.00	Subtotal:	\$59,708.50	Subtotal:	\$75,765.50	Subtotal:	\$57,202.00
EXTR	A WORK ITEMS (TO BE USED ONLY AT DIRECTION												
	GINEER)												
	Well Pointing, In Accordance with Specifications	500		\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00
	Borrow, In Accordance with Specifications	200 100		\$6.00 \$15.00	\$1,200.00 \$1,500.00	\$6.00 \$15.00	\$1,200.00 \$1,500.00	\$6.00 \$15.00	\$1,200.00 \$1,500.00	\$6.00 \$15.00	\$1,200.00 \$1,500.00	\$6.00 \$15.00	\$1,200.00 \$1,500.00
39 .	Extra Bank Sand Backfill, In Accordance with Specifications	100	CI	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00
60 .		100	CY	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
61 .	Structural Concrete, In Accordance with Specifications	100	CY	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$200.00	\$20,000.00
				Subtotal:	\$32,200.00	Subtotal:	\$32,200.00	Subtotal:	\$32,200.00	Subtotal:	\$32,200.00	Subtotal:	\$32,200.00
	TOTAL BASE BID ITEMS				\$1,672,883.93		\$1,717,700.00		\$1,853,451.25		\$1,947,115.00		\$1,970,389.50

*Denotes error in bid.

W:\2012\2012\78\Bid\Bid\Bid Tabulation.xlsx Page 4 of 7

Bid Tabulation For: Construction of Mason Road Extension Segment 3 - Oyster Creek to Farmer Road C.I. Job No.: 2012-178 Fort Bend County Bid 14-017

Bids Received: October 10, 2013

Bids R	eceived: October 10, 2013				ers Construction , Inc.	Hassell Constr	uction CO., Inc.	Mar-Con S	ervices, LLC	Texas Sterling	Construction Co.	Triple B Services, L.L.P.	
Item No.	Description of Item	Quantity	Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
	WAY SITE PREPARATION AND EARTHWORK ITEMS	2	E.4	¢1.500.00	62 000 00	\$800.00	¢1 con no	ê550 40	¢1 110 00	¢1 000 00	62 000 00	\$800.00	¢1 con on
1 .	Furnish and Install Project Sign, Complete in Place, In Accordance with the Drawings and Specifications.	2	EA	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00	\$559.40	\$1,118.80	\$1,000.00	\$2,000.00	\$800.00	\$1,600.00
2 .	Clearing and Grubbing, Complete in Place, In Accordance with the Drawings and Specifications.	1	LS	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	\$156,024.80	\$156,024.80	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
3	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes), Complete in Place, In Accordance with the	36	LF	\$25.00	\$900.00	\$55.00	\$1,980.00	\$16.90	\$608.40	\$35.00	\$1,260.00	\$15.00	\$540.00
4	Drawings and Specifications. Remove and Dispose of Existing Pavement and Base Material, Complete in Place, In Accordance with the Drawings and Specifications.	4,040	SY	\$7.00	\$28,280.00	\$7.00	\$28,280.00	\$3.60	\$14,544.00	\$3.00	\$12,120.00	\$6.00	\$24,240.00
5	Construction Staking, In Accordance with the Drawings and Specifications	1	LS	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$20,566.00	\$20,566.00	\$41,500.00	\$41,500.00	\$25,000.00	\$25,000.00
6	Sawcut Existing Pavement, In Accordance with the Drawings and Specifications.	115	LF	\$8.00	\$920.00	\$12.00	\$1,380.00	\$7.90	\$908.50	\$6.00	\$690.00	\$2.00	\$230.00
6A	Roadway Excavation, In Accordance with the Drawings and Specifications.	6,146	CY	\$5.50	\$33,803.00	\$9.00	\$55,314.00	\$8.00	\$49,168.00	\$14.00	\$86,044.00	\$6.50	\$39,949.00
	and specifications.			Subtotal:	\$111,903.00	Subtotal:	\$158,554.00	Subtotal:	\$242,938.50	Subtotal:	\$153,614.00	Subtotal:	\$101,559.00
	WAY PAVING												
7	Lime Stabilized Subgrade with 7% Lime - (Type A) 8" Depth, Complete in Place, In Accordance with the Drawings and Specifications.	26,700	SY	\$1.50	\$40,050.00	\$2.00	\$53,400.00	\$1.70	\$45,390.00	\$3.00	\$80,100.00	\$2.00	\$53,400.00
7A	Hydrated Lime (Type A) for Stabilization - 7%, Complete in Place, In Accordance with the Drawings and Specifications	561	TON	\$170.00	\$95,370.00	\$141.00	\$79,101.00	\$159.30	\$89,367.30	\$150.00	\$84,150.00	\$135.00	\$75,735.00
8	HMAC Concrete Base Course (Black Base) 8" Depth, Complete in Place, In Accordance with the Drawings and	129	TON	\$120.00	\$15,480.00	\$140.00	\$18,060.00	\$89.40	\$11,532.60	\$90.00	\$11,610.00	\$110.00	\$14,190.00
9 .	Specifications. HMAC Type "D" Surface Course 2" Thick, Complete in Place, In Accordance with the Drawings and	45	TON	\$240.00	\$10,800.00	\$250.00	\$11,250.00	\$114.60	\$5,157.00	\$100.00	\$4,500.00	\$118.00	\$5,310.00
10	Specifications. Reinforced Concrete Pavement - 8" Depth, Complete in Place, In Accordance with the Drawings and	24,300	SY	\$40.15	\$975,645.00	\$42.54	\$1,033,722.00	\$39.80	\$967,140.00	\$39.80	\$967,140.00	\$48.00	\$1,166,400.00
11	Specifications. Concrete ADA Ramp 4.5", Complete in Place, In Accordance with the Drawings and Specifications.	25	SY	\$50.00	\$1,250.00	\$85.00	\$2,125.00	\$193.60	\$4,840.00	\$230.00	\$5,750.00	\$425.00	\$10,625.00
12	Concrete Curbs 6", Complete in Place, In Accordance	15,510	LF	\$3.00	\$46,530.00	\$2.00	\$31,020.00	\$2.40	\$37,224.00	\$2.50	\$38,775.00	\$4.50	\$69,795.00
	with the Drawings and Specifications.			Subtotal:	\$1,185,125.00	Subtotal:	\$1,228,678.00	Subtotal:	\$1,160,650.90	Subtotal:	\$1,192,025.00	Subtotal:	\$1,395,455.00
ROAL	WAY DRAINAGE ITEMS												
13	Install and Maintain Trench Safety System (From 5 to 10 feet), Complete in Place, In Accordance with the Drawings and Specifications.	3,737	LF	\$1.00	\$3,737.00	\$1.00	\$3,737.00	\$0.20	\$747.40	\$1.00	\$3,737.00	\$0.11	\$411.07
14	Furnish and Install 24" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In	2,260	LF	\$70.00	\$158,200.00	\$60.00	\$135,600.00	\$56.70	\$128,142.00	\$65.00	\$146,900.00	\$100.00	\$226,000.00
15	Accordance with the Drawings and Specifications. Furnish and Install 30" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In	641	LF	\$80.00	\$51,280.00	\$81.00	\$51,921.00	\$79.40	\$50,895.40	\$90.00	\$57,690.00	\$126.00	\$80,766.00
16	Accordance with the Drawings and Specifications. Furnish and Install 36" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In	81	LF	\$110.00	\$8,910.00	\$105.00	\$8,505.00	\$100.60	\$8,148.60	\$150.00	\$12,150.00	\$160.00	\$12,960.00
17	Accordance with the Drawings and Specifications. Furnish and Install 42" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In	145	LF	\$120.00	\$17,400.00	\$125.00	\$18,125.00	\$126.00	\$18,270.00	\$175.00	\$25,375.00	\$200.00	\$29,000.00
18	Accordance with the Drawings and Specifications. Furnish and Install 60" RCP (Culvert)(C-76) (Class III) at all depths, Bedding & Backfill, Complete in Place, In Accordance with the Drawings and Specifications.	610	LF	\$195.00	\$118,950.00	\$150.00	\$91,500.00	\$249.60	\$152,256.00	\$260.00	\$158,600.00	\$305.00	\$186,050.00

W:\2012\2012\78\Bid\Bid\Bid Tabulation.xlsx Page 5 of 7

Bid Tabulation For: Construction of Mason Road Extension Segment 3 - Oyster Creek to Farmer Road C.I. Job No.: 2012-178 Fort Bend County Bid 14-017

Bids Received: October 10, 2013

				ers Construction , Inc.	Hassell Consti	ruction CO., Inc.	Mar-Con S	ervices, LLC	Texas Sterling	Construction Co.	Triple B Se	ervices, L.L.P.	
Item				Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
No.	Description of Item	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
19	Furnish and Install Precast Standard Depth Manhole, Complete in Place, In Accordance with the Drawings and Specifications.	13	EA	\$3,800.00	\$49,400.00	\$2,800.00	\$36,400.00	\$3,638.40	\$47,299.20	\$3,000.00	\$39,000.00	\$3,600.00	\$46,800.00
20	Furnish and Install Precast Standard Depth Manhole with Type 'E' Inlet Top, Complete in Place, In Accordance	1	EA	\$6,600.00	\$6,600.00	\$3,500.00	\$3,500.00	\$6,819.10	\$6,819.10	\$7,000.00	\$7,000.00	\$6,800.00	\$6,800.00
21	Furnish and Install Precast Standard Depth Manhole on RCB, Complete in Place, In Accordance with the Drawings and Specifications.	4	EA	\$2,500.00	\$10,000.00	\$2,200.00	\$8,800.00	\$2,745.60	\$10,982.40	\$1,600.00	\$6,400.00	\$2,900.00	\$11,600.00
22	Furnish and Install Standard Type 'C' Inlet, Complete in Place, In Accordance with the Drawings and Specifications.	17	EA	\$2,260.00	\$38,420.00	\$3,100.00	\$52,700.00	\$2,156.40	\$36,658.80	\$3,000.00	\$51,000.00	\$3,400.00	\$57,800.00
23	Furnish and Install Standard Type 'C-1' Inlet, Complete in Place, In Accordance with the Drawings and Specifications.	2	EA	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00	\$2,575.30	\$5,150.60	\$3,700.00	\$7,400.00	\$3,900.00	\$7,800.00
24	Furnish and Install Standard Type 'C-2A' Inlet, Complete in Place, In Accordance with the Drawings and Specifications.	2	EA	\$3,450.00	\$6,900.00	\$3,800.00	\$7,600.00	\$3,037.50	\$6,075.00	\$4,100.00	\$8,200.00	\$4,500.00	\$9,000.00
25	Furnish and Install Standard Type 'E' Inlet, Complete in Place, In Accordance with the Drawings and Specifications.	5	EA	\$2,510.00	\$12,550.00	\$2,900.00	\$14,500.00	\$2,158.60	\$10,793.00	\$3,300.00	\$16,500.00	\$4,300.00	\$21,500.00
26	Riprap, Complete in Place, In Accordance with the Drawings and Specifications.	100	SY	\$55.00	\$5,500.00	\$63.00	\$6,300.00	\$45.50	\$4,550.00	\$100.00	\$10,000.00	\$55.00	\$5,500.00
27	Reinforced Concrete Wingwall, Complete in Place, In Accordance with the Drawings and Specifications.	10	CY	\$1,000.00	\$10,000.00	\$1,050.00	\$10,500.00	\$649.20	\$6,492.00	\$1,000.00	\$10,000.00	\$500.00	\$5,000.00
28	Omitted			\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
				Subtotal:	\$503,847.00	Subtotal:	\$456,688.00	Subtotal:	\$493,279.50	Subtotal:	\$559,952.00	Subtotal:	\$706,987.07
CWDI	P ITEMS												
	Sodding for Erosion Control (Various Widths), Complete in Place, In Accordance with the Drawings and Specifications.	5,250	SY	\$3.75	\$19,687.50 *	\$3.50	\$18,375.00	\$3.20	\$16,800.00	\$3.50	\$18,375.00	\$3.50	\$18,375.00
30	Hydro-mulch Seeding, Complete in Place, In Accordance with the Drawings and Specifications.	4	AC	\$1,500.00	\$6,000.00	\$1,550.00	\$6,200.00	\$1,130.00	\$4,520.00	\$1,475.00	\$5,900.00	\$1,500.00	\$6,000.00
31	Reinforced Filter Fabric Barrier, Complete in Place, In Accordance with the Drawings and Specifications.	3,850	LF	\$4.00	\$15,400.00	\$2.00	\$7,700.00	\$1.50	\$5,775.00	\$1.50	\$5,775.00	\$2.00	\$7,700.00
32	Inlet Protection Barrier (Stage 1, With Reinforced Filter Fabric Fence), Complete in Place, In Accordance with the Drawings and Specifications.	11	EA	\$70.00	\$770.00	\$40.00	\$440.00	\$56.50	\$621.50	\$54.00	\$594.00	\$15.00	\$165.00
33	Stabilized Construction Access (Type 1 - Rock), Complete in Place, In Accordance with the Drawings and Specifications.	222	SY	\$35.00	\$7,770.00	\$35.00	\$7,770.00	\$11.30	\$2,508.60	\$17.00	\$3,774.00	\$25.00	\$5,550.00
34	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags), Complete in Place, In Accordance with the Drawings and Specifications.	23	EA	\$60.00	\$1,380.00	\$12.00	\$276.00	\$14.10	\$324.30	\$60.00	\$1,380.00	\$17.00	\$391.00
35	Rock Filter Dam (Type 2), Complete in Place, In Accordance with the Drawings and Specifications.	180	LF	\$30.00	\$5,400.00	\$40.00	\$7,200.00	\$32.40	\$5,832.00	\$29.00	\$5,220.00	\$85.00	\$15,300.00
36	TPDES General Permit No. TXR150000; Notice of Intent (NOI) Application Fee (Contractor's NOI)	1	EA	\$700.00	\$700.00	\$350.00	\$350.00	\$367.30	\$367.30	\$975.00	\$975.00	\$800.00	\$800.00
				Subtotal:	\$57,107.50*	Subtotal:	\$48,311.00	Subtotal:	\$36,748.70	Subtotal:	\$41,993.00	Subtotal:	\$54,281.00

 Bid Tabulation For: Construction of Mason Road Extension Segment 3 - Oyster Creek to Farmer Road C.I. Job No.: 2012-178

Fort Bend County Bid 14-017 Bids Received: October 10, 2013

				Aranda Brothers Construction Co., Inc.		Hassell Constr	ruction CO., Inc.	Mar-Con S	Mar-Con Services, LLC		Texas Sterling Construction Co.		Triple B Services, L.L.P.	
Item				Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	
No.	Description of Item	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	
SIGN	NG AND PAVEMENT MARKING ITEMS													
37	Remove and Relocate Traffic Signs, Mail Boxes, Roadway Signs	1	LS	\$3,000.00	\$3,000.00	\$1,100.00	\$1,100.00	\$5,028.50	\$5,028.50	\$720.00	\$720.00	\$500.00	\$500.00	
38	Aluminum Signs (Ground Mounted)(High Intensity Sheeting) - Furnish & Install	2	EA	\$600.00	\$1,200.00	\$270.00	\$540.00	\$508.50	\$1,017.00	\$480.00	\$960.00	\$600.00	\$1,200.00	
39	Type III Barricades	3	EA	\$900.00	\$2,700.00	\$650.00	\$1,950.00	\$904.00	\$2,712.00	\$1,051.00	\$3,153.00	\$800.00	\$2,400.00	
40	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Solid - Furnish & Applied	800	LF	\$0.60	\$480.00	\$0.80	\$640.00	\$0.60	\$480.00	\$0.85	\$680.00	\$0.80	\$640.00	
41	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	440	LF	\$1.30	\$572.00	\$1.50	\$660.00	\$1.10	\$484.00	\$1.70	\$748.00	\$1.60	\$704.00	
42	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	100	LF	\$7.71	\$771.00	\$6.00	\$600.00	\$5.70	\$570.00	\$6.50	\$650.00	\$5.50	\$550.00	
43	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied	450	LF	\$0.65	\$292.50	\$0.80	\$360.00	\$0.60	\$270.00	\$0.85	\$382.50	\$0.80	\$360.00	
44	Reflectorized Pavement Markings Type I (Thermoplastic) 4" White/Dashed - Furnish & Applied (15' over 40')	3,750	LF	\$0.65	\$2,437.50	\$0.80	\$3,000.00	\$0.60	\$2,250.00	\$0.85	\$3,187.50	\$0.75	\$2,812.50	
45	Reflectorized Pavement Markings Type II , 12" Yellow/Solid For 6" Curb per Detail "D", Furnish & Applied.	1,500	LF	\$1.75	\$2,625.00	\$1.50	\$2,250.00	\$1.10	\$1,650.00	\$0.95	\$1,425.00	\$1.00	\$1,500.00	
46	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow - LEFT - Furnished & Applied	4	EA	\$264.50	\$1,058.00	\$180.00	\$720.00	\$113.00	\$452.00	\$125.00	\$500.00	\$140.00	\$560.00	
47	Reflectorized Pavement Markings Type I (Thermoplastic) Word - ONLY - Furnished & Applied	4	EA	\$264.50	\$1,058.00	\$200.00	\$800.00	\$113.00	\$452.00	\$150.00	\$600.00	\$170.00	\$680.00	
48	Reflectorized Pavement Markers Type II-A-A - Furnish & Install	30	EA	\$6.35	\$190.50	\$5.00	\$150.00	\$3.40	\$102.00	\$4.50	\$135.00	\$4.00	\$120.00	
49	Reflectorized Pavement Markers Type II-C-R - Furnish & Install	330	EA	\$6.35	\$2,095.50	\$5.00	\$1,650.00	\$3.40	\$1,122.00	\$4.00	\$1,320.00	\$4.00	\$1,320.00	
50	Non-Reflectorized Ceramic Traffic Buttons (White) - Furnish & Install	150	EA	\$6.30	\$945.00	\$4.00	\$600.00	\$3.40	\$510.00	\$3.75	\$562.50	\$4.00	\$600.00	
				Subtotal:	\$19,425.00 *	Subtotal:	\$15,020.00	Subtotal:	\$17,099.50	Subtotal:	\$15,023.50	Subtotal:	\$13,946.50	
TDAE	FIC CONTROL ITEMS													
_	Work Zone Pavement Markings 4" White/Solid (Removable) Furnished - Applied & Removed	2,850	LF	\$0.95	\$2,707.50	\$0.70	\$1,995.00	\$0.70	\$1,995.00	\$0.75	\$2,137.50	\$0.60	\$1,710.00	
52	Work Zone Pavement Markings 24" White/Solid (Removable) Furnished - Applied & Removed	100	LF	\$10.60	\$1,060.00	\$4.00	\$400.00	\$5.70	\$570.00	\$11.00	\$1,100.00	\$4.00	\$400.00	
53	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished - Applied & Removed	4,020	LF	\$0.95	\$3,819.00	\$0.70	\$2,814.00	\$0.70	\$2,814.00	\$0.75	\$3,015.00	\$0.60	\$2,412.00	
54	Traffic Control - Furnish - Install & Remove	6	MO	\$2,070.00	\$12,420.00 *	\$2,200.00	\$13,200.00	\$1,130.00	\$6,780.00	\$2,000.00	\$12,000.00	\$900.00	\$5,400.00	
55	Constructing Detours for Two-Way Traffic (6" Black Base) for Installing-Maintaining & Removal	440	TON	\$85.00	\$37,400.00	\$95.00	\$41,800.00	\$93.10	\$40,964.00	\$90.00	\$39,600.00	\$125.00	\$55,000.00	
56	Constructing Detours for Two-Way Traffic (2" HMAC Surface) for Installing-Maintaining & Removal	110	TON	\$140.00	\$15,400.00	\$140.00	\$15,400.00	\$102.10	\$11,231.00	\$98.00	\$10,780.00	\$165.00	\$18,150.00	
				Subtotal:	\$72,806.50	Subtotal:	\$75,609.00	Subtotal:	\$64,354.00	Subtotal:	\$68,632.50	Subtotal:	\$83,072.00	
	A WORK ITEMS (TO BE USED ONLY AT DIRECTION													
	Well Dainting In Assendance with Creatifications	500	LF	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	
	Well Pointing, In Accordance with Specifications Borrow, In Accordance with Specifications		CY	\$15.00 \$6.00	\$1,200.00	\$15.00 \$10.00	\$7,500.00	\$15.00 \$6.00	\$1,200.00	\$15.00 \$6.00	\$7,500.00 \$1,200.00	\$15.00 \$6.00	\$1,200.00	
	Extra Bank Sand Backfill, In Accordance with Specifications		CY	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,200.00	\$15.00	\$1,500.00	\$15.00	\$1,200.00	
60	Extra Cement Stabilized Sand, In Accordance with Specifications	100	CY	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$31.50	\$3,150.00	\$20.00	\$2,000.00	\$36.00	\$3,600.00	
61	Structural Concrete, In Accordance with Specifications	100	CY	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$200.00	\$20,000.00	\$500.00	\$50,000.00	
				Subtotal:	\$32,200.00	Subtotal:	\$33,000.00	Subtotal:	\$33,350.00	Subtotal:	\$32,200.00	Subtotal:	\$63,800.00	
	TOTAL BASE BID ITEMS				\$1,982,414.00 *		\$2,015,860.00		\$2,048,421.10		\$2,063,440.00		\$2,419,100.57	

*Denotes error in bid.

W:\2012\2012\78\Bid\Bid\Bid Tabulation.xlsx Page 7 of 7